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1 |deiEE 5.9E+2 1.5E+4 15,227.0
2 | BEHRER 9.8E+2 976.0
3 _|AFER 1.2E+2 1.4E+3 1,482.0
4 [EHE 6.0E+2 1.2E+2 722.0
5 |RHEER 3.0E+3 2,991.0
6 |[ILFR 4 0E+3 3,951.0
7 |EBE 7.0E+1 70.0
8 |REE 9.9E+2 7.4E+2 1,726.0
9 [HARE 8.0E+2 2.7E+2 1,067.5
10 |HER 2.9E+2 6.6E+3 6,921.5
11 |BER 4.0E+2 5.5E+2 950.5
12 |FER 9.7E+2 3.1E+2 1,275.0
13 | AR 6.0E+0 4 5E+3 4,501.0
14 [wZE)IE 4.2E+1 6.0E+0 48.0
15 |FiRE 1.0E+3 1,018.0
16 |EWE 2.3E+3 2,328.0
17 |BNE 4 6E+2 458.0
18 |f@HAR 6.9E+1 69.0
19 [WWEIE 7.0E+0 7.0
20 |RHE 1.2E+2 1.8E+3 1,945.5
21 |IKEER 1.3E+2 132.0
22 |FEEER 4 8E+2 4 0E+1 516.0
23 |BHIE 5.3E+2 5.9E+2 1,121.0
24 |ZEE 1.7E+2 173.0
25 |#ER 1.1E+2 108.0
26 | HAERAT 7.0E+0 7.0
27 | XBAF 7.4E+1 74.0
28 | EER 2.0E+2 198.0
29 |E=RE 7.0E+0 7.0
30 |[FnERLE 4.7E+2 4.0E+1 505.0
31 |EmME 2 9E+2 8.0E+1 367.0
32 |ERE 1.0E+2 103.0
33 [MIIE 3.7E+2 372.0
34 |[LER 5.3E+2 4.0E+1 572.0
35 [ILAOE 3.9E+2 389.0
36 |fESR 6.2E+1 4 0E+1 102.0
37 |BNIE 7.0E+0 8.0E+1 87.0
38 |ERE 1.4E+2 142.0
39 |E%E8 2.6E+2 1.6E+2 417.0
40 |fEREE 8.3E+2 4 0E+1 870.0
41 [EER 5.6E+2 557.0
42 |RIBE 3.3E+2 4 0E+1 369.0
43 [REXRE 2.7E+3 1.6E+2 2.842.0
44 | KHE 7.7E+2 4.0E+1 811.0
45 [EIBE TAE+2 4.0E+1 746.0
46 |[ERBE 3.9E+2 394.0
47 | HfEe

Z2E 2.7E+4 2.8E+4 4.5E+3 59.715.0
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